WORSHEET (Standard)
SUBJECT-MATHEMATICS,
CLASS-III
CHAPTER-4 (MULTIPLICATION) TIME-45 Min
MAX.MARKS:20
Choose the correct option: (2 X1=2)
1) 345x0 12 + 0 (put correct sign)
a)< b)> c)= d)none of these

2)The number to be multiplied is called
a) multiplicand b) multiplier c) product d) none of these

Fill in the blanks: (2 X1=2)
3)4tens x 7 ones =

4) 8+8+8+8+8+8= X8

Answer the following: (2 X1=2)
5) Multiply 78 by 9.

6) Multiple 235 by 7.

Short Answer Type Question —I (2 X 2=4)
7) When multiplicand is 305 and multiplier is 25, find the product.

8) Multiply 374 by 26

Short Answer Type Question —Il (2 X 3=6)
9) What is the product of successor of 98 and predecessor 100?

10) A farmer had 170 boxes. He packed 56 flowers in each box. How many flowers did he
pack in all?

Long answer type question: (1 X 4=4)
11) If one jar contains 345 toffees how many toffees will be there in two dozen such jars?



